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| Tt f(2) f 1||Cw+ uw gu, Pz} = f :f{ﬁ}dﬂ. Then F*x) =
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2 Lal, u.[r:l, En) = (x F e+ 22 where n > 2 H Y —— =0 for some (T, 00, 2.,) F

it
(0, -+, 0 ihen &£ = 7,
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3 Ty == [} satislies the initial value problem v* —3y'+ % = I+e%, and y(0) = 6, 5°(0) = 0.
Then 4(-2) = ™

4 Find bm [(n"™ 5 n®) —p = T
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3 Consider the line integral
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where the path €' is the line sogment from (0, 7] Lo (10,1). The value af the integral is

X

6 let 5 be the solid obtained by revolving the region B = {(=z,y}|(z--2)* +¢* < 1,y 2 0}
around the line ¥ = . The volume of 53z 3

T The curve »! — " = | i asymplotically to the line v = 2. 'The point on the curve
r* — 4 =1 shat is farthest to the lney =715 BF
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1 Find fnn*u’]'—sin:r; .

2 Hoag,ap, --,a, are veal numbers satls[yirp
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show thal the equation ag -+ a12 + -+ + g.2™ = 0 has at least ons real root,

3 Theidea] gas law PV = nRT {n is the number of moles of the gas, B 19 a constant} deter-
mines each of the three vatiables PV, and T {pressare, velume and absolute temperature
respectively} as the functioz of the ouher Lwe. Show that
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